RETFAN BE 109901, 100901, TES 01
1. ROGEZE X (SH20, Af30%, Bk43®, CHs558 )

(1) 5=0.1 (2) 12=0.1
(3) 2=+0.01 (4)  75=0.01
(5)  4-=0.001 (6)  0.25=+0.001
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2.

ROGHEZE X, (SHK20, AfK30F, Bi43®, C 55 )
(1) 3=0.1 (2) 78=0.1
(3) 20-+0.01 (4)  42-+0.01
(5) 9-=0.001 (6)  0.88=10.001
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R#TAL BE 10401, 1005801, TES 01 HBEEH

1. XROiHEZT X (S22, A3, Bik43#, C#k557)

K* KEL TN 1 EDNEWVWETHS

=01 (L), 2001 (L), =o0.001
10 100

(1) 5=0.1
=50

WO FNERE AT 1L 7 77205,
5D/ R 1T Y EANBEEIT 5.

(3) 2=0.01
=200

0.0 /NS LT 27 312005,
2 D/INBUS " 2 YA ~NEENT 5.

(5) 4-=0.001
— 4000

Y 0.00L 1Z/ NS LT 37 912005,
A DN 3T Y HNEEIT 5.

© B - BEZ KL L7912 (http : //www.enjoymath.sakura.ne.jp/index.html )

5) o IEREECEETS.

(2)  12=0.1
— 120

YOI AN 1 7 871205,
12D/NE % 1 7 Y E~BEIT 5.

(4)  75=0.01
— 750

0.0 /NS DL T 27 2006,
T5D/NBUE R 2 Y AE~NBEIT 5.

(6)  0.25=0.001
— 250

¥ 0.001 lZ/NBEDLTN 37 872006,
0.25 D/NEUSZ 37 Y E~EEIT 5.



http://www.enjoymath.sakura.ne.jp/index.html

2.

ROGHEZE X, (SHK20, AfK30F, Bi43®, C 55 )

(1) 3=0.1
=30

YO LIZNBE LN 17 87205,
SONBEZ 1T E~EHT 5.

(3)  20=0.01
— 2000

¥ 0.0L 1T/ NPT 27 8 2005,
20 D/NBUS " 27 FAENEENT 5.

(5) 9-=0.001
— 9000

Y 0.001 Z/NBUSAT 37 971205,
9OD/INESE 3T Y AENEEIT 5.

(2)  78+0.1
— 780

YO LIZDNBUS AN 1 7 371205,
T8 DN " 1 YR~ HT 5.

(4) 4.2+0.01
= 420

Y 0.0 IZ/NBUS AN 27 872005,
4.2 D/INEUS " 277 Y AENBEIT 5.

(6)  0.88=0.001
— 880

¥ 0.001 13/ NS LT 37 9 12005,
0.88 D/INEUN % 37 ¥ ~BET 5.
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